EARAROBEEIERT — 2 N— IBISH —F

2019547138 (£) 3EIF7H

mﬁi% 3 KEF B ‘ [Xiz] % ‘ [eErsm]  — | &4 (&) 12000 FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: 3 | ZHER 1:12.2 3-3 37.7| 84.3 | 1 454 | REEEZ ()
1 N 8 JYXZIVTT)—K 54.0 (=) +2) (#) /=>Fe—H>TLv KR
RTIRRFVAIN Bi—Y—a— BEIZY K
= 5 it 3 | AtEiE 1:12.4 7-4 37.5| 827 | 2 468 | REEE (EH)
2| 713l b7 7LA 54.0 (1 1/4) () | B ¥rOybT7—L
B D R A & i S (/) HEa-KL—Ya> AET7
S 4 3 | SEEXH 1:12.5 2-2 38.3|81.9 | 5 474 | RS ()
36 2T F7E-IL 54.0 (1/9) o | W) FITLYKI5T 5747
RLNMLVTSY BT7RFRF—L FIR=4F 77— In
=Y FiBEX 2. - . . KHRRE (EH)
N - REEETER 4 3 Bl 1(112)7 4-4 38.0| 79.8 | 3 (4:3‘3 ]
L:veNnNyarh7r BivyrFrI Tl #"HBET7—L4
S 4 3 | AlIEREA 1:12.9 7-8 38.0| 78.0 | 6 46 | HEE (EH)
51112 F7LyYT 54.0 (11/2) (+6) (E)E#VDV 77 —L
RF—TTUTLT BTANLTETS J—¥Tr—L
S T [ e N: :13. - . . hEER— (EE
sl2l14| 1o HL17 i3 e 1(153)7 -1 [ 38.4| 71.1 | 12 (i:g) ki
o4O B:A FH¥ITV 9T BEAX XE
= 3 | HHE 1:13.8 1-1 38.5| 70.2 | 15 | 426 |EBEA EH&)
715]9 d—7ZJb 54.0 (1/2) (-8) SAREITF
L7 RIA ¥ L—> BX¥HT1T7LT 1 BB
S 4 3 | REIE® 1:13.8 14-13  [38.1] 70.2 | 9 488 | REE(R— (E)
8|86 ¥ MY 54.0 (NF) g | ) InTr—n
x40 B:e7oOrtl INTF—L
o - s KEFHRTR :13. - . . TNEERER (355H)
9 4|V EAT AT i 3 3 1(/71353 4-4 391 71.0 | 4 ;1_320) IEJEE%IZé
R:O—XF>F4L B:R-5—-1—> (1T 3
N BEAIE SR 2118, — . . ARl (EH
wlililmzz2>ny2- it 3 o 1(11/32;) 13-13 [ 38.4| 69.4 | 7 (4_264) e
LN=Z—kta1—X B:UIXREZ2TE-—L JIXZLTp—LI
— . ERAR 14, — . . RHFzm (FEl)
» | FreerL—x i3 TR 1 (134)4 10-9 39.3| 65.9 | 14 <4+424) %5@%#
Z:2kAryUs-> B:a-70=7 T7Z—ENNT7—L
o HIDa1E : — NEEZ (El)
1 2| k=7Eva0 4 3 o3 1.(134).9 16-16 | 38.8| 61.1 | 11 (4i2) %ma‘/k‘ o
RibhTotL R B b=—TYoq N — 745
i 3 | EEET 1:15.0 4-4 40.3| 62.6 | 8 420 |®MEZ (M)
13\8(15| 7%/ 7 =7 54.0 (7€ Cio) | R
RiXLveh/Eer BIZX/ITI- FIXTT— LI
. 4 3 | RER&A 1:15.1 14-15 [ 39.4| 59.9 | 16 | 424 |XMEE— (k)
14|5|10| ¥2/H—-X 54.0 ) Gy | FLPFEA
RiN—HNF B:TFIIHO-—X FIXTT— L
SEN EEpE— :15. - . . [GIEES IV ESE )]
15 12 JxLT7 X 4 3 554_0 (11115/433 7-9 40.4| 60.3 | 13 (4&0) ik
L:YZZXE—3ZR4— B:ZXH—Ly k3P N5
- # 3 | EEEE 1:16.1 1-1 42.0| 56.2 | 10 | 438 |AILRE (EiH)
16 3 T1=1 . 54.0 (5) (-2) () BANAHEE
LANXRTIVG BV —F>TTzA A Llgl=Eidie]
@ 71 L
) 49.6-38.1
NA>Z4 L | 11.9-10.7-11.5-12.5-12.7-12.9
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= (x3,6)8(4,5,15) (2,12,13)11(9,14)1(10,16)-7
40—F— (¥3,6)8(4,5,15,13)2-(11,12) (9,14) (1,16)10,7
[ N3
B O 8 270H 714K 8-13 390M e E 4-7 810 JEHE 6-8-13 2,330/
8 B 8 130M4 6-8 500 B = 8-13 880M B 8-13-6 10,310M
13 1809 6-13 830 B H 8-13 1,560M
6 270M

ABICOVWTRDTEEERROODE. TR LIV,




